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UNDERSTANDING ADDITION

Addition means putting things together.
When we add, we count all the ob)ects put together.

o %‘b

and equals
e '+'isusedto show ad
and is read as 'p

! * '='isread a &'.

We write, 2 + 4 = 6. This is called an addition statement.
We say that 2 plus 4 is equal to 6. Here, 6 is the sum ofs2

How many altogether?

PP

When we add zerotoa
number, we get the same |
number as the answer. |

No flowers
in the vase

So, 0 + 2«

- @ o&ers in all.




AddingOne §

: . >, Addlng ltoa
& - number gives the
d &9 equals " . . number ‘just after. |
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1. Count and add. Pg
a.\'vvv]and\vv’u;']eq%“‘ﬁyuuuu]
e g N

(0066 ¢]um &%@quawwwmw
|| ! ﬁ | - B
% equals

c. | % He J k| | kokokok |

B ] - B
d. [ocieele RSP and | b | equals [ foefococfociocfoeiocte |
2. Dr dlesfor the following addition statements.
s

° 0000000-00-000000000

@+35

c. 0+4=4

d 6+1=7

135




ADDITION ON A NUMBER LINE

Example 1: Add 7 and 2.
Solution: To add 7 and 2 we can use forward counting.
Step 1: Think 7.

Step 2: Count forward 2, thatis, 8 9

We get 9, so adding 7 and 2 equals 9.

Let us now forward count and add using a number .Ii

Example 2: Add 5 and 3. "&
Solution: To add 5 and 3 on a number line, start fr
forward as shown. That is, we start from 5 and

take 3 jumps
ward by 3.

While adding two numbers we
count forward or move to the
right on a number line.

(Wi \

There are 4 kites in all.

\Meseethat: 1+3=4=3+1

@ Go to Mylnspire for (B




1. Add by counting forward.

a. 1+8= b. 0+3= c. 7+0=
d 2+5= e. 6+2= f 4+4= %b
2. Count and add. Also show the addition on the number line. @

60 &6 868 D
D i D _ D There are ‘(%es in all.

> 6““ ——

¢ o0 wgff’“ww

+ \eare
QO

<
<

strawberries in all.

»
>

—
01 2 3 45 6 7 8 9
D There are

oxes to complete the addition statements.

D +

3. Count and add.

apples in all.

M

There are cakes in all.

We see that, + = D = +



ADDITION BY DRAWING LINES

First, we draw standing lines to show each number.
Then, we count the total number of standing lines to find the sum. ‘

Example 3: Add 4 and 3.
Solution: To find 4 + 3,

Step 1: Draw standing lines to show the numbers. &
4+ 3 =[][[+]]] Q
Step 2: Then count all the lines together.

[[[]|]| There are 7 lines in all. .é‘

So,4+3=7.

Vertical Addition

We can also add two numbers by writing th& below the other.
Example 4: Add 5 and 4. .\

Solution: To add 5 and 4:
Step 1: Write the numbers orfé\gelow)the other.

5
Step 2: Draw standing lin@gto show 5 and then 4. + 4
Step 3: Count all the st "@nes and write the sum. E
So,5+4=9. &
Example 5: Ri meencils and she got 3 more
pencils frov%@ ther. How many pencils does
11¢

she ha Q
Soluti0y

Riya had 5 | | | | | !
Add.
\@e t from her brother + 3 ] N b.
Pencils in all 8 ’

Riya has 8 pencils in all.

@ Go to Mylnspire for (EX:




1. Add by drawing lines.
b.

d. C.

1 0 3
+ 3 + 5 + 3

2. There are 5 birds on a branch of a tree.
There are 4 birds on another branch of
the tree. How many birds are there in all?

o] M 5 !’ 3. Riteshhad 6t s grandmother

gave him 2 . HOw many toffees

#1“& m “ . does K

4. Banu read 2 comic books on Satu
7 on Sunday. Find the total n m1c
books she read on these t days

NUMBER COIVIBINATIUNS

Can you show 14 m of two numbers? (1+0=1 (0+1=1

Now let er numbers as combination of different numbers.
e 'Th er 2 can be written as the sum of two numbers.
[ N 1+1

) +O=2| - - — -
aﬁ o :-1+1:2—! i_0_2_2_f 2}
. ) (1 —
R 0+2 2+0

. Use concrete objects (like an eraser) to make a number using different combinations. Encourage students to
. try and make a number in as many different ways as possible.



3 340=3  2+41=3

o 3+0 0+3 The number 3 can be written as:

2+1 1+2 1+2=3

e« The number 4 can be written as the sum of two
numbers in five different ways.

@ Go to Mylnspire for (B

ADDING THREE NUMBERS

Example 6: Add 4, 1, and 2.

Vertical additi&
Solution: 4
T TR
AL A A
2

4 + 1 +

QD
o+
: +2
So,4+1+2=7.
%;

While adding three numven if we change the order of adding numbers,
a

the answer remains th,ﬂh .
Now, if we add@, enwe have4 +3=7.

ddition of 3 numbers can also be done by
drawing standing lines and counting them.

\
N

+ 0=238
, 5+3+0=8. + 0 + 0
Now, if we add 5 + 3 + 0, then we have 5+ 3 = 8. g 8

% :Add:5+3+0
olutton:5 + 3 + 0 S
';l—g’

® Go to Mylnspire for (EX @



1. Add the numbers.
a. 5 b.

d 2
6
+

&
/ 2. Write 5 as the comb@n of two

R

2
+ 2 +

numbers. °

3. Draw more triangles (A) in the blank box tc;&;e number 6.
a A A + A -
b. A + \ -
C. + Q a = o
d. ,V = -
4. Add. §'
a.1,2,and 3 : . 7,0,and 2 c. 5,1,and 2
‘*& + +

5. Niya ed 2 saplings, Ayush planted 3 saplings, and Sara planted 4 saplings
iMthe school garden. How many new saplings did they plant in all?

< ) Niya
Ayush

Sara +

New saplings planted in all

©



UNDERSTANDING SUBTRACTION

Subtraction means taking away.

There are 3 apples. Simar eats 1 apple.

How many apples are left? %%

'~ is used to show raction
and is called minus.

3apples - Tlapple = 2apples

o \
We write 3 — 1 = 2. This is called a subtraction state N
We read the statement as 3 minus 1 is equal to 2. l%
Here, 2 is the difference of 3 and 1. @&,
e

Example 8: A necklace has 7 beads. 2 beads
remain in the necklace? ¢ x

TN
Solution: There are 7 beads. A | 3
2 beads are removed. J remove @ g equals \\CJ
We write, 7 -2 = 5. 7 beads —~ 2beads =  5beads
We say, 7 minus 2 is equa :
ace ‘

So, 5 beads remain in #he 2 less than 7 is 5. ‘

oved. How many beads

EEEEEEE T

s uges are taken away.
. . . ..l.. Always cross out smaller
number of objects from the
Now we have 4 squares. bigger number of objects.
So, 9 minus 5 is 4.

We can write, 9 - 5 = 4.

43}



Example 9: What is 8 — 3? @

Solution: Let there be 8 stars. 1. Arun had 6 pencils. He lost 2 of
9 4 4 W 4 A - them. How many pencils does he
N PN PN PN PN PN PN PN have now?

Cross out 3 stars from 8 stars. T %
o 0. 0.6 6 ¢ /& l ! ! ! ! %
2NN TN o W o W o W o PN 7

5 stars are left.

We can write this as 8 - 3 = 5. 6-2=
2. Remove 3 circles from 6 cifgles and

So, 8 minus 3 is equal to 5.
write the subtract tatement.

@ Go to Mylnspire for (B

)

SUBTRACTION ON THE NUMBER LINF.

[ }
To subtract a number from another num

from the bigger number.

we count backward

When we count backward, th mb et smaller.

To subtract 2 from 4, we stat from
and count 2 numbers ba
o [mum [mu am mE
m 3 = = e e S

Let us see th$ umber line.

¥\
~— Sttt @
1 2] 3 . 5 6 7 8 9
While subtracting one number

ta t from 4 and jump two numbers from another on the number

e left. We reach 2. line, we count backward or
move to the left.

e subtraction statementis 4 — 2 = 2.

@ Go to Mylnspire for (I




SUBTRACTION BY DRAWING LINES

Example 10: Manisha bought 8 eggs. Of these, 3 eggs fell and broke.
How many eggs are left with Manisha?

Solution: To subtract the given numbers by drawing lines:
« Place the smaller number below the bigger number.
 Use standing lines to show the bigger number.

« 'Then cross out as many lines as the smaller number.

» 'The number of standing lines left gives us the answer.

We have to find the number of eggs left. °

Eggs bought 8 |11} Cross out 3 lines %\

Eggs fell _ 3 Count the re @g nes.

Eggs left ? 5 standin 11@ left. So, 8 - 3 = 5.
— Wesca say, 3 less than 8 is 5.

So, 5 eggs are left with Manisha.

Subtractmganumber om
i 6'

&e left out -

Subtractmg zero from a number

No lines to cross.

i
4 So,4-0=4
Find
Any number subtracted from - b.
\elf gives 0. 6 /
\Q Zéro subtracted from any - 2 - 4
number gives the number itself. SR D




1. Subtract the following by crossing out.
2. iy Gy Gligy Gy iy Wiy Sy Gy My 06 %
WS FE FS FS PSS FS 6-6= %

C. l."?:'_ r:l S l."f:'. r: et ':' r:. S .."?:'. f‘:‘l 5t l."f:'_ r: et @
2. Subtract 3 from 5 on the number line and complete the subtract

statement.
- D - D 0 1 2 3 N 8 9
3. Subtract 2 from 7 on the number line and write

HEEEE

4. Subtract the following usmg standmg

a o |l Q s | 4 6 [l
'y -0

5. Write the missing n {
ae o e

c. 8- K d -3=6

candies.
andles ﬁ i o ﬁ % _
w many candies are 55 e
Oe ith her? -
\ #

traction statement.

»
>

o
4 5 6 7 8 9

7. There are 9 parrots on a tree. After some time,
5 of them fly away. How many parrots remain
— on the tree?




1. Count and fill the circles to complete the addition statements. Draw as; %

many squares as the answer in the empty box.

a.

©)

@

O

2]
O

2. Find the answer using a n

a. >5+2 = D &
b.8-7 = <
C. @% ~—
0
\\d the answer using standing lines.
\6 \

a.

1
+ 4

beyline.

S

&

o

\

7
"

C.

92




4. Soni had 9 strawberries with her.
She gave 4 to Shilpi. How many are
left with Soni?

5. There were 3 birds sitting on a t %

(] 1 bird flew away. How many

D are left on the tree. Q

6. Sudhir has 2 pencils, 1 eraser, and
1 sharpener in his pencil box. Find the total
number of things in his pencil box.

_______ HOTS Questions T

1. Draw more dots in blue to make 5 dotsQon visible face of the dice.

2. Take away 6 glasses andWrite the subtraction statement.

—— ———

———————————l

' on a road trip with his family. He saw two cars on the road.

S 7o

mber of wheelsintwocarsis . (4/8)

——————————,

e of the wheels of a car bursts.

C » (4 / 3) wheels are left on the car.

He saw a car in the garage with all wheels removed.
Therewere (3 /0) wheels on that car.

o




